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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 comp_’u_ls;@_u and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section. ’

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A
Q1 Rrefivfm sl ¥ & wrw wn s s 150 wrsat o R ; f
~/  Anawer the following questions in about 150 words each : 10wk

W) WTEREA, e’ o whi % e o e R | S g
Rrwo & forg arwfives firg & 2 wan fqores smavrEaTd Iemm w3 § 2
Explain the difference between ‘needs’, ‘wants’ and ‘demands’, Which :
ane of these is the starting point for marketing ? Do marketers Create
needs ?

(b) ‘Mﬁmwﬁ.mmmmwﬁﬁmam,”wmﬁm
RuvR veww iy & ar #) afte w2 ,_
& w1 vl R gigea 3 e o e s T R 2 :
The statement “build a better mousetrap, the world will beat a path t
their door” communicates the essence of which marketing management
arientation ?
Why is this concept not the right approach in a competitive marketing
scenario ? 10 |

© IR RO TR AW e S a9 53 ol meeveten
N A T W w1 o 3 VoW Iwm F w9 Teed’ T j
mﬁlmmmﬁgaﬁmﬁmmmmt
AR w2
Smart marketers approach market with an understanding that they
cannot appeal to all customers/buyers. Therefore they adopt the Tifle’

approach instead of the ‘shotgun’ approach. Which of the two approaches
i1s more effective in the contemporary business environment and why? 10

(@ mm(@.w:)wﬁmaﬁqﬁwﬁaaﬁﬁq | 9T g e  foe
Jgeia faftm wefoai 1 aoiv v |

Define Human Resource (HR) Audit. Describe the various practices
followed for HR Audit. 10

(e) ‘gfar, WWW’@WW%?M#QWWW
+! G989 § e fifvw |
What is meant by ‘vision’, ‘mission’ and ‘objectives’ ? Briefly explain the
nature and characteristics of objectives.

A

10

EGT-P-MGMT 2

e —

Scanned by CamScanner



Q2.

() wfaafd & fagidl € smen @au § Gifv | Bw o adfm sfaest 3
fafir woer - € 2 seiifes ufawett o 3 =3 2 g *
%7 " ' FAH MM G FM FnA
Briefly explain the theories of co i
mpensation. What are the di
types (?f monetary and non-monetary rewards ? What are the e;dxfferem,
demerits of using non-monetary rewards ? erits and
15

() e oF W e 2 g afnfa F0 1 5 amag §
1 fagra @esar 3t Afnns FrE © snaia R |mﬁ§r?§w‘qr§a§:
fifirm wd T T @ ARRiE w9 5 v, 8 g W e R
ehrt foFan < |t 2 |
Motivation is a simple process but the task of motivating is daunting
Herzberg’s theory is based on hygiene and motivator factors. Explaix.x
how this theory can be used to motivate employees at different levels of

an organisation.

© Ya o qon e e wrif 3 friea Hifd | R S we e
F1 faftr Tl & Icag TN ° W d @ 2
. : ) I;ONM\L 3‘( N .
Differentiate between line exterision an brand extension strategy. Why
do organisations proliferate markets with different types of product

15

variations ? 10
(d) @ﬁmﬁﬁ%mﬁ@ﬁﬁ%mﬁ,fgm%ﬁ%maﬁﬁa

(qeptamr) it =mEn HIT | e TSI $oft U3 % e F I T

£?

Explain the economic rati
capital assets. What are th

a capital lease ?
aﬂt‘aﬂ’%aﬁamﬁmﬁﬁﬂmt@mﬁamt@ﬂ

2roqual % " e e lm%mmﬁwmmﬁﬁ%?
etween ‘role’ and_‘_@al’. Differentiate between
«.——’

Explain the relationship b role’
(role conflict and role ambiguity. What effects do these have on the
15

wo@g of the o_x_'gl__nisation ?
(b) hﬁaﬁﬁﬁmﬁ-ﬁﬂﬁfﬁamﬁ%mmmm%?ﬁ%ﬂ
| m%mmm%mmﬁmmmmm
Wéaﬁ%aﬂtaﬂﬁﬁmﬁimwﬁmém%t

What are the different types of skills leaders use in leading ? Discuss the
skills become more important and

reasons why conceptual leadership tant
technical skills go down in importance, at higher levels of organisation.

3

onale behind leasing as a mode of financing

e differences between an operating lease and
10

(a)

15

EGT-P-MGMT

Scanned by CamScanner



la

@ e Rl Aves ey ¥, v R §  FOER R wes (Bagy
. " _E ‘; :L‘;!‘\ ..w&‘ §. ..m" i(“fn(-’\ 11!{ ‘T[W ‘} a‘n}m C"?'B) ;

yn.\ "\ .nome n ¢-

- A L '}l-—aﬂ
QL tERET e © #-

O Ow | NS e
n '..':‘.c contexd of Online Internet Marketing, four  types re {
.:\.,.\,«\. . Rugness to Consumer (B2C), Business 0 Businegg
L Qonsnmer S0 Consumer (C20) and Consumer to Business (Cap)
Sxplain these with the help of examples. };

@ wogd ¥ ofw e w R e (le) fwd S ¥ WM W‘{é

wwwem .d“ ~J§ wd
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SRS SR E RS G q\m-ﬁnf‘mﬁfh%w%mmﬁmm !
IRAR o o wwm R :
Contrast the effect of FIFO versus (weighted) average cost on ending
value of inventory and pre-tax income (PBT), \“hﬂﬂ

i

) w

fo

W) Prices are rising, and
() Prices are falling.

Explain how income can be manipulated by the choice of inventory |
valuation method. 10}

RE——

=

N

L (@ wE iR onuie wive vew ) wera @ Ao @ R yen e
@Y | Ao Ny iy SR AT 2

Explain how do marketing communications work with the help of basic

communication process. What are the elements of marketing i
communication mix ? 15i

b)) T Sg eniweh 3 e o R “‘ener w1 ok Faw e amiie
ITERE § — TEEH H IG HEAT AN W gl sl w@ A
FEwTd ¥ ol L. | I R W IwEr 8R % R saa w agd
qU T F TN H T qheT AT e Hife |
A famous economist wrote that “there is one and only one social
responsibility of business — to use resources and engage in activities

designed to increase its profits...”. Critically evaluate this statement in
the context of increasing pressure on business to be socially responsible. 15

E—
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(0 TEuhE Femem o ot Fwegwe ® 3 et % gm At

a R S wFa R | w0 3= FEETEE 9N FE AT @ wEes fawe @
Tehal & ? =ATE Hifu, w46 |

Managerial performance can be judged/measured by two parameters of
effectiveness and efficiency. Can an organisation or manager with high
efficiency fail ? Explain why. e

(d) TH T9F AFE Woeh % afEd (nafi) I@m Fna | 7 IgEe ™
wftge e (i Tera) frareii & e favea Hifag |
What are the primary uses of a standard cost system ? Distinguish
between favourable and unfavourable cost (and revenue) variances. 10
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SECTION B
- ~ o~ N N ~ - : ﬁm :
IS h %0:35&5551733’{01““” 150 ¥ : 15 each ¢ 10x3
Answer the following questions in sbout 150 words ¢ . NSngy
e e e ke i o g@m‘iﬁﬁﬁm@@-mmﬁ@rﬂ
=R T A ST R T ﬁ-—‘-}{" LRl % ? JES! 8T
3 SR o 0 Compare it with the
. - ‘ . of financing ¢ Lomg
What is the pecking order theory © 0
trade—ofT theory of capital structure.

(c)

-
l =0 St}

= ‘ ? ;
) s R @9, W
TR W.) T TR f5g TR T 9@ R ’ EQE|
355 T S B @ TR S |
What is the relationship between bond prices
does one calculate yield to matunty (YTM) on
bonds, zero coupon bonds and premium bonds.

== & 3E aswi‘ﬁfﬁiﬁmﬁ?mﬁ.@-mmmﬁiﬁf%

m(qu)%ooommwmmﬁ?mo W

mmlmaﬁﬁwm%ﬁﬂﬂﬁmm‘mm

zméwlﬁm@%ﬁ“@mmﬁmwmm’

%:Faﬁaamﬁ%mfﬁ‘z:

) SHATHEIGRTE?

(i) 7S 9 S HAE F91 A1 ?

(i) 3T 9% 1 QI 1 @ 2

(v) af 99w uELwE. s 6 $eed w g  ($EEd i arm)
15% ora 2, 9 L. fGfies & aer g (IR i) &
FEE TR ?

The India Times reported yesterday that ABS Ltd. earned (profit after

tax) T 200 crore during the year ending yesterday and paid out a

dividend of ¥ 100 crore during the same period. The report also

mentioned that the firm’s return on equity (ROE) is 20%. Answer the

following questions assuming that the firm will maintain the same
dividend payout ratio forever :

(i)  What is the firm’s earnings growth rate ?

(ii) What will next year’s earnings be ?

(iii) What will next year’s dividend be ?

(iv) What is the estimate of market value (market capitalization) of

ABS Ltd., if market considers 15% as the required rate of return
on equity (cost of equity) of ABS Ltd ? 10

Y]
(}m

,,..
A
S

n

and interest rate ? How
a bond ? Define discount
10
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@ fraror Fm T
_ e H Rrott
P 31/03/2017 &
. fesra roneg
g 8o | EEi
it with the ATIBTE =5y
- 0 § %ot
5 Gf?g Ty A A =y 8,00,000
21y ¥ qiqq o ﬁ’a—c:' qu 3,00’000
. 5,00,000
rate ? How . )
’ Hag
e discount x?\ ﬁililqﬁé\
10 | | 31/03/2017 | 31/03/2016
2l T8 99 3 — g@ 50,000 70,000
0 S Fr 90,000 | 60,000
<l (ROE) RS 80,000| 70,000
SR CL A T I W 15,000| 20000
Explain direct method and indirect method of preparing statement of
cash flows using the following information pertaining to Ajay Ltd : 10
Statement of Profit and Loss for the year ended 31/03/2017
; Sales Revenue 90,00,000
6l ATEa) Cost of Goods Sold 80,00,000
ITT) B Other Expenses 1,50,000
-, Depreciation Expenses 50,000
fit after i Profit Before Tax 8,00,000
dout a | Ioome Tax Expense 3,00,000
ort also | K o 5,00,000
wer the Net Pro Relevant Balance Sheet Accounts
o s 31/03/2017 | 31/03/2016
1 50,000 70,000
Inventory 90,000 60,000 e
Accounts Receivable 80,000 70,000 2
ion) of Accounts Payabl® 1 15,000 20,000 .
return__ Income Ta% Pay
‘ h _ ;
“TP.MeMT
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(a)

(b)

(c)

(d)

mm%ﬁ;ﬁm%%%@-ﬁmmmmﬁﬁgmz
m@ﬁ%ﬁmwgﬁjﬁm'm“ﬁm g,
T T ¥ ufed g o &1 seful information than 4

; i ide more Uu
Why does variable costing Prow : : b s el |
absorption costing for decision-making ‘ Wh e incomy £

relationships between absorption and variable costing Whlen _pr"d‘_lcﬁon B
volume differs from sales volume ? What causes these relationshipg o

occur ?

FFRE % oEn depkel F AR GG dEr # R A sy
O T TG AiEphE AR T 8 ? R R Ad sy
TEQ R ? IR IEON hl FERAT | TE HIRT |

What are the major cultural characteristics which explain differences i,
organisational behaviour across cultures according to Hofstede ? Why ig
cultural adaptation important ? Illustrate with the help of suitable
examples. -
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ST, A I S Ay ey & o =
A < " mﬁﬁaﬁﬁmﬁm%nﬁm’tﬁm
b4 $ﬁﬁuaﬂmmm%|

lain ; :
Exp the meaning of disputes and causes thereof. Industrial disputes,

if not 7 ingat
o resoll\frd Create .dlssatxsfaction which finds expression in different
- Explain the various ways of settling disputes. 15

&) TSR SRR 9t e o o st v & 2 v o 3 s
qulﬁm%@ﬁwmgz

0 TewEm =

(if) ﬁmmﬁ%mwmmm

) = g T g m R

T St SR § R wif s e A | R w
T ITE () ¥ () Wi s R 9 aiw 1§ s g
%,m%mamﬁﬁam’m?ﬁwqa’thm@n?

What is the purpose of recording adjusting entries ? Some of the items

for which adjusting entries are made at the end of the accounting period
are :

@ Depreciation expenses

(i)  Services provided by the firm for amounts received earlier

(ili) Interest payable on loan outstanding

(iv) Rents due but not paid

State the adjusting entries for the above implicit transactions. If an
organisation fails to pass adjusting entries for items (i) to (iv) above,

what will be the impact on ‘Statement of Profit and Loss’ and on
‘Balance Sheet’ ?

(© 3wl g HeA FEe A | AR ok Jeadh wew § | w3y
weAt % forg e & 2 2

Two of the ’emer'ging organisation structures are virtual and network
orgamsahons ,Are‘thes.e threats to conventional organisations ? Why ?
() mm F i aq&m F & T ok i Jaell, yeust o
 Tufel 6 a8 ? I €I A SR W g s SR |
° " Does India need more leaders, managers or entrepreneurs for achieving
AR WW&; 2 Explain, highlighting their differences,
CBarpuener o 9

15

10

10
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Q8. (a) wwmmmﬁmmi?wm%
AN R 8 ?

Are the concepts of employee engagement and en;powerment different ?
What are the benefits of employee empowerment : 15

(b) Wﬁmmwwﬁ%?maﬁmﬁ_@ﬂwm
o R 2, o v R Iueh e weH  § T T EHIE R 2
I < TS I |
What is the importance of research in marketing ? Supp?se.a company
wants to undertake a research study, what process is it likely to

undergo ? Explain the steps. 15‘ ,
© e uiig fifie 6 Preafiies doft g @
feem ¥ yeR g @ g | IWR A

8% aREdHIa Foad (TH.H1.E1.) 5,00,000 | 5,00,000
7-5% SR (SR =) O 12,00,000 | 10,00,000
Sfaadt T it 8,00,000 |°10,00,000

Rl 25,00,000 | 25,00,000

T aga Afgg fafivs 40% = F5% ¥ | Hifenafza whaf @ 8% it |
riferq s wiiflen fifiem 7% & | oge Aiesn fafies it et e 100
%|m@ﬂ%@%ﬁé@%ﬁﬂiﬁﬁﬁW&H@Fﬁﬁmﬁmm:l"!f

Atul Mahindra Ltd. has the following capital structure :

Type of Financing Book Value | Market V:
8% Non-Convertible
Debentures (NCD) 5,00,000
7-5% Preference Share Capital 12,00,06(.}"1 5
Equity Share Capital 3,06‘ TR
l Total

Atul Mahindra Ltd. is in the 40% tas
return is 8% and the expected marke
beta of Atul Mahindra Ltd. is 1-00. {
of capital for Atul Mahindra Ltd.

EGT-P-MGMT
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S are always more accurate than
you agree ? How does ABC improve
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